CHM 155 Pts Fall 2004 Name: Ke U_
Shew work to receive credit! 4

(Atomic masses: H = 1.008,C =12.01, N = 14.01, 0 =16.00, Na = 23.00, S = 32.07, P =
30.97, Ca = 40.08)

1. (6 Pts) Complete and balance each of the following:

a3 HSOMaq) + _L AlOHKGa) > & [, O+ Aéa\ @ 09)3
b. 2 HNO; (aq) + NeCOa) > [4,C0; +IMa NO; = A, 0+ Co, g) 1Mt

2. (3 Pts) What volume of 12.0 M HN03 is required to prepare 900 mL of 2.0 M HNO 3 solution?
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3. (4 Pts) What mass of Ca(OH), is present in 500 mL of 0.00500 molar Ca(OH),?
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4. (4 Pts) What is the molarity of 700 mL of solution containing 9.72 grams of nitric acid?
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5. (8 Pts) Calculate the molarity of an H,SO, solution if 40.0 mL of the H,SQ, solution reacts with 0.212 g of
Na,COj;. (Hint: start with a balanced chemical equation)
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CHM 15 Pts Fall 2004 Name: Rf’"L
Show work to receive credit! ¢

(Atomic masses: H=1.008,C = 12.01, N = 14.01, 0 =16.00, Na = 23.00, S = 32.07, P =
30.97, Ca = 40.08)

1. (6 Pts) Complete and balance each of the following: .
L AOHK@g) + 2 HSOaq) > £ H,0 A L9 } o

b. = HCIO,(aq) + Na,CO;(aq) > H,LCO 2t L I\ACQO? ~—) f/g)a@) +( O3 + 7 Mo (D X,
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. (3 Pts) What volume of 10.0 M HNO; is requnrcd to prepare 900 mL of 3.0 M HNO; solution?
1]o-0 M) gz 120 M/}{; YD )
v, = 2 70mlL
. (4 Pts) What mass of Ca(OH), is present in 400 mL of 0.00300 molar Ca(OH),?
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4. (4Pts) What is the molarity of 700 mL of solution containing 7.72 grams of nitric acid?/ /@
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5. (8 Pts) Calculate the molarity of an H,SO, solution if 50.0 mL of the H,SO, solution reacts with 0.223 g of
Na,CO;. (Hint: start with a balanced chemical equation)
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